GR 10 REVISION:  PRODUCTS, FACTORISATION & 
ALGEBRAIC FRACTIONS
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ANSWERS:
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(y+3)2y-3) +(y-1)G - 2y)
=(+3)2y-3)-(y-1@y-3) (Note! (3 -2y)=~(2y-3))
=@y-3)y+3-y+1)
=(2y-3)4)
=4(2y-3)

(20~ 1) - 21(2x - 1) - 3(2x - 1) Reminder: How to invert a fraction
=@x- 10 -2x-3) =
=@x-1Dx-3)x+1)

Switch the numerator and the
denominator
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Questions

1 Multiplying expressions:
a  Square the binomial (3x - 4).

Expand: (2x - 5)(2x + 1)

Expand: (2a + b)(4a® - 2ab + b?)

Find the products and simplify: (2a - 5b)(4a - 3b) - (a + 3b)(5a ~ 12b)

Find the product: (k2 + 2)(k - 1

5 an o

2 Factorise the following expressions:
25x%+30x+9

5x2-7x-6

JOEN
@t-5-@t-57

3¢ +xr-3x-1

m m?—mn? + n?
+3)2y-3)+ -G -2y
X(2x-1) - 2x(2x-1) -3(2x- 1)

Frme a6 o
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3 Algebraic fractions:

a

b

Simplily 355

- awose
Simplify to the lowest terms: £5=25

Simplify as far as possible: =712
ala+1)+(a+1)

Simplify as far as possible: “ -
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(3x-4)2=9x - 24x + 16

9x? is the square of 3x

~24x is twice the product of 3xand -4
16 s the square of 4

b 4x-8x-5

®

A ow

8a’+ b’
(2a - 5b)(4a - 3b) - (a + 3b)(5a - 12b)

=(8a? - 26ab + 15b%) - (5a* +3ab - 36b%)
=3a*-29ab + 51b*
(k+2)(k-3) =k - 3k+ 2k -2 =k2+

&

3
5

(5x+3)

(5x+3)(x-2)

0= demalet =) xfee B3]

Qt-50-(@t-572=@t-572t-5-1)
=(2t-57 (2t-6)
=2(2t-52(t-3)

3¢ 422 -3x-1=xGx+1) - B3x+ 1)

=0 -1Bx+1)
=0+ 1)x-1Bx+1)

m’ —m?—mn? + = (m’ - m?) - (mn? - n?)
=m*(m-1) -n*(m-1)
=(m-1)(m* - n?)
= (m~1)(m - n)(m +n)




